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Aufgaben-Quickname: 7973

Aufgabe 1
Berechne.

a) 15,76 + 3,91 + 22,33 + 52,6 = 94,6
b) 3,51 + 5,5 + 21,3 + 60,09 = 90,4
¢) 25,47 + 3,59 + 22,24 + 6,02 = 57,32

Aufgabe 2

Berechne.

28.07.2013

a) 224+ 10 +49 + 28 + 29 = 138 b) 30 + 38 +40 + 39 + 27 = 174
¢)31+29+ 16+ 23 + 11 = 110 d) 11 +33 + 36 + 10 + 105 = 195

e) 3+ 30+ 33+ 34429 =129
Aufgabe 3

Berechne.

a) 8+ 10 440 + 7 = 65 )20 + 7 + 11+ 35 = 73
¢) 16 + 3 + 32 + 17 = 68

Aufgabe 4

Berechne.

a) 12,2 + 9,96 + 23,53 + 25,67 = 71,36
b) 10,19 + 2,04 + 7,21 + 34,65 = 54,09
¢) 4,67 + 21,88 + 15,71 + 26,89 = 69,15

Viel Erfolg!
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